Breaking down the combined mask.
Combined Mask = Drawn Mask +Parmetric mask
This includes the entire image so that in the drawn mask (Mask 1) objests will initially have a value of 1 and the rest of the image will be zero. The same is true for the parametric mask (Mask 2) so that the selection parameters define what will be given a value of 1 and the rest will be zero again over the “whole image”.  So in a sense it is like combining two layers with traditional black and white masks. 
There are polarity toggles which allow you to reverse this so you can have versions of Mask 1 and Mask 2 where the opposite is true. What was 0 will become 1 and the reverse so swapping black for white in the traditonal sense of a mask..

So you have 4 possible masks to blend to come up with the final combined mask:
A. Drawn normal + Parametric normal
B. Drawn inverted + Parametric normal
C. Drawn normal + Parametric inverted
D. Both inverted.
These are the 4 combinations.
How they are combined is governed by the mode. In exclusive it is like a multiplication. So areas where Mask 1 and Mask 2 are both 1 will yeild a result of 1 ie 1x1.  Using inclusive the result is more of an addition so if either Mask 1 or Mask 2 has a value of 1 then the result is 1 when combining Mask 1 and two.
With two ways to determine how the mask is combined then there are 8 basic combined masks
Finally there is a selection for both exclusive and inclusive mode to give you the inverse mask of the current mode be that exclusive or inclusive
So in summary your combined mask is the result of the blending the drawn mask layer and parametric mask layer the value of which depends on the definition of the original mask, its current polarity, and the mask combination mode ie exclusive or inclusive
So what does that look like….

***NOTE  On windows at least for the moment there is a hitch. To get this all to work correctly you must first use the toggle all channels buttion before using inclusive mode. If you don’t and you directly select inclusive  it seems like the mask settings are not properly interpreted

[image: ]
Figure 1: Base image for reference…very exciting
[image: ]Figure 2: Using the colorize module beginning with a parametric hue mask on the dumpster [image: ]
Figure: 3 Mask overlay for the parametric mask Yellow = 1 everything else is 0
[image: ]Figure 4: inverted parametric mask by changing polarity again Yellow =1 the rest is 0[image: ]Figure 5 Drawn mask Yellow = 1 the rest is zero [image: ]Figure 6 Inverted drawn mask Yellow =1  the rest is 0[image: ]
Figure 7 Combined mask default Exclusive Figure 3 xFigure 5  Area in Yellow is where both masks have a value of 1.
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Figure 8: Exclusive with the Drawn mask inverted so Figure 3 x Figure 6
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Figure 9 Exclusive with the Parametric mask inverted so Figure 4 x Figure 5.
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Figure 10 Exclusive with both Drawn and Parametric mask inverted from there starting positions
Figure 4 x Figure 6
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Figure 11 Default Inclusive starts will all masks reversed. When blending in inclusive mode the combined mask area will always be 1 as long as either mask hold a value of 1 (additon) 
Performing the same sequence as above Fig 3+Fig 6
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Figure 12 Inclusive – Drawn mask reversed  Figure 3 + Figure 6
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Figure 13 Inclusive – Parametric mask reversed Figure 4  + Figure 5
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Figure 14 Inclusive with Both masks reversed Figure 4 + Figure 6
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Figure 14: Inclusive + Inverted mode….selected on the mask in Figure 14

In summary if you know when and where each mask is 1 and zero and you understand in one case the combining is a multiplication  of sorts and in the other its addition you can predict in theory where the combined mask will fall but it is  hard to keep track esp since toggling the polarity doesn’t just impact your drawn or parametic selections it also inverts the rest of the image before the blend so all of a sudden when you invert you drawn shapes the rest of the image in the drawn mask is now 1 and this has a role in determining the combined mask….
On windows at least for the moment there is a hitch. To get this all to work correctly you must first use the toggle all channels buttion before using inclusive mode. If you don’t it seems like the mask settings are not properly interpreted.
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